
1) An amount was increased by 9% to 
$124.35. Find the original amount.

Answer: ____________

2) Find the median of the following set of data:

6, 9, 29, 7, 40, 11, 4, 35, 2, 11, 5, 
30, 12, 3, 12, 12, 33, 17, 18, 16

Answer: ____________

3) 5828 x 2938

Answer: ____________

4) 10:42 am To 04:28 pm

Answer: ____________

5) Find the range of the following set of data:

7, 1, -0.2

Answer: ____________

6) Decrease 146 by 50%

Answer: ____________

7) Simplify 31:41

Answer: ____________

8) Convert the following fraction into a 
mixed number: 43/39

Answer: ____________

9) $60.00 earning 10% compound 
interest for 4 years.

Answer: ____________

10) Find the range of the following set of data:

-0.9, -3, 0.2

Answer: ____________

11) Increase 409 by 21%

Answer: ____________

12) Decrease 262 by 28%

Answer: ____________

13) Find the range of the following set of data:

20, 0.9, 20

Answer: ____________

14) Round 3.182 to the nearest whole 
number.

Answer: ____________

15) 342/18 x 224/11

Answer: ____________
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16) Round 25.604127 to the nearest 
whole number.

Answer: ____________

17) Find perimeter of 
rectangle having 
sides a = 8265 cm 
and b = 6626 cm

Answer: ____________

18) Solve by factorising 
x2 + 19x + 18 = 0

Answer: ____________

19) Write 1 x 104 as a normal number.

Answer: ____________

20) (5-9)-3

Answer: ____________

21) Round 29.36094661 to the nearest 10

Answer: ____________

22) 'What is the probability of rolling a 
number less than 1.when rolling a 
dice

Answer: ____________

23) 'What is the probability of rolling a 
number less than 1.when rolling a 
dice

Answer: ____________

24) Convert the following fraction into a 
mixed number: 72/27

Answer: ____________

25) 25% of 438

Answer: ____________

26) 7682 + (-7358)

Answer: ____________

27) Simplify 31:68

Answer: ____________

28) Convert the following mixed number 
237/13 to an improper fraction.

Answer: ____________

29) Convert the following mixed number 
237/13 to an improper fraction.

Answer: ____________

30) Convert the following mixed number 
237/13 to an improper fraction.

Answer: ____________
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31) Find the percentage change from 263 
to 420.8

Answer: ____________

32) Find area of square 
having each side (s)
equals 7507 ft

Answer: ____________

33) 1449.9 - 6495.5

Answer: ____________

34) 47.5 x 74.1

Answer: ____________

35) 7532 + 9693

Answer: ____________

36) $79.32 earning 7% compound 
interest for 2 years.

Answer: ____________

37) Find perimeter of 
square having each 
side (s) equals 7901 in

Answer: ____________

38) 8769 x 5315

Answer: ____________

39) 8769 - 8294

Answer: ____________

40) 36/6 - 7/15

Answer: ____________

Total: ___ / 40
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Answers:

1) $114.08 2) 8 3) 17122664 4) 05 Hours 46 Mins 5) 7.2 6) 73 7) 31 : 41

8) 14/39 9) $87.85 10) 3.2 11) 494.89 12) 188.64 13) 19.1 14) 3

15) 76228/33 16) 26 17) 29782cm 18) x = -1 or -18 19) 10000 20) 527 21) 29.4

22) 0/1 23) 0/1 24) 22/3 25) 109.5 26) 324 27) 31 : 68 28) 306/13

29) 306/13 30) 306/13 31) 60% 32) 56355049ft 33) -5045.6 34) 3519.75 35) 17225

36) $90.81 37) 31604in 38) 46607235 39) 475 40) 58/15
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